REHAR] BRI
EHRE EFERS

iR 156 CEFTFEFREE XS L ESEEE LN ]

s, H B[R

FEREL 0307 - ML 1

BT | AR 7 PR (R

200

00

[}

——

=
i

(2) Obtain the Norton equivalent at terminals a-b of the circuit. (10%)

8k
zv+ 0.001 V..+ w* 0K

1“4

2. For the network, find i(f) for £ > 0. (20%)
5Q

50V sQ

=0 ‘“”T.

3. Determine the line currents for the three-phase circuit. (20%)
£120°V

Let V,=110£0°, V3 = 110£-120°, V. = 110.
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1. (1) For the circuit, find the Thevenin equivalent between terminals @ and 5. (10%)
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4. DUTESBERS B4 he=100 » C,=0.2pF » fr=1GHz (20%)
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